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Geography
Paper II

I

P9aeRT 11
Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)

U Sed. €@ YA e

The thickest known deposit of Loess’ | 1. ‘T8 YeRI'alal Hald SMEE HEM
on the ‘Loess plateau’ is found T ‘AE N g I
110 AORUURR . T

(A) China (A) =

(B) USA. (B) 4.TH.T.

(C) Mongolia (C) wifer=n

(D) Afghanistan (D) SAHIUE

Laterite is produced by : 2. St fAfddt aRER B

(A) Hydration and carbonation (A) STAHIR ST HEHIH

(B) Hydrolysis and oxidation (B) Sieitg faweed onfor SAffaraeiahen
(C) Hydration and calcification (C) STTEAN ST Shedish ol

(D) Leaching and oxidation (D) e et StifoaeteantT
Which action is responsible for the | 3. <RIl Ufshan gt feAIe shesmrean fAfHd@RE
formation of Eskens ? SOleeR 3TEd 2

(A) Fluvio-glacial erosion (A) Ta-fgu TgeRo

(B) Glacial erosion (B) feu<a oTueRwr &rd

(C) Glacial deposition (0) feuc= oo =

(D) Fluvio-glacial deposition (D) _a-fer ==

[P.T.O.



Which one of the following pairs is

not correctly matched ?

(A) Laterite soil — Uttar Pradesh
(B) Sandy soil — South Punjab
(C) Red soil — Tamil Nadu

(D) Black soil — Madhya Pradesh

Assertion (A) : Granite has larger

crystals than basalt.

Reason (R) : Basalt has larger

content of metallic minerals.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

SEP - 36221/I1—A

o ha¥ (aViaY

Gt I Tk Siel Ira qdi

Jescialt A@l ?
(A) STt 981 — SaRUE

(B) AII&™A T&1 — Tiaqu usie
(C) TSt Ja1 — difHesrg,
(D) FES T — AAYRH

I (A) : FUMTHHE dHeCUsT g

MR Thideh AHA.

HRUT (R) : SHCEHEN ST JHIUN =

WS 19dra.
FhT RO TS 3T ?

(A) T8 (A) 9 (R) 39 39H (R) B
(A) I MY TR B

(B) Tl (A) 9 (R) 379 3Ted Wd (R)
T (A) 3 TgF TSI AT

(C) (A) 9% TR W (R) T I% 378

(D) (A) I 2 W (R) & T M




Match the List-I and List-II and
select the correct answer from the
codes given below :

List I
(Processes)
(@) Hydraulic Action
(b) Plucking
(c) Deflation
(d) Solution
List 1I
(Features)
(1) Cirques
(2) Geo
(3) Terra-Rosa
(4) Desert Pavements
Codes :

(@ B) @© @
A 2 O @ O3
B & @ O @
< @ 2 @ O
D 2 @O & @

A e tributary is formed
when tributaries in a flood plain
may not be able to enter the main
river because of raised levees on
either bank of the river.

(A) Deferred
(B) Solitary
(C) Anabranch

(D) Anastomosing

SEP - 36221/I1—A

-1 & AGH-I1 A= TS SJesad Qe
Hehdlehlqd arg e e

RICU |
(wferam)
(@) Zforeh feRan
(b) T S0 (Plucking)
(¢) 3A9g8T (Deflation)
(d) s foman
It 11
(&)
(1) femmet
2) TS
(3) -
(4) AT YEHE
Hehdieh :

@ B (© @
Aa 2 @O @ O
B & @ @O @
©c O @ @ O3
D 2 @O B @

Stegl QX HeHmEE IuTen ' A<
fFrFaeRiet S qRASges G e o
F& Tehd M@l

(A) Tfi
(B) TehTehi
(C) =

(D) afeHe™

[P.T.O.



10.

What are the signs of rejuvenation

in a river valley ?
(1) Incised meanders
(2) Unpaired terraces
(3) Nick points

(4) Paired terraces
(A) (1), (2) and (3)
(B) (1) and (3)

() (2), (3) and (4)
D) (1), (3) and (4)

.................... is the area in a drainage
network where stream directions are

opposite and elevation is maximum.
(A) Mid slope

(B) Water divide

(C) Valley

(D) Confluence

The turbidity currents observed
in arid climate are better known

AS e .
(A) Dust storms
(B) Thunderstorm
(C) Tornado

(D) Cyclone

10.
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TaI=d] qUdiel QeSS aAarsar gl

ShIUThIUTT 3Ted 7

(1) TH%a e (Incised meanders)
(2) oTsire Afgaht (Unpaired terraces)
(3) @m= fog

(4) STe dafqehl (Paired terraces)
(A) (D), (2) 3T (3)

(B) (1) efur (3)

(C) (2), (3) 3T (4)

D) (1), (3) 3 (4)

.................. %TFI?&‘T ST \7||03|‘C{| 3@
% walTe e ot fores = St &
S 3T

(A) A 3R

(B) STeAfaTsTeh

(C) =0

(D) &

[ YU elere] Helgrell St drd




11.

12.

Which one of the following
statements is correct ?

(A) Wind speed increases with

friction
(B) Wind speed 1is inversely
proportional to pressure

gradient force

(C) Geotrophic wind blows parallel
to the isobars

(D) Wind is deflected to its right in
the southern hemisphere

Koppen’s climate types (List-I) and
the regions/states of their occurrence
(List-II) are given.

Match List-I and List II and select
the correct answer from the codes
given below :

List I
(@) Amw
b) Aw
(¢c) Bshw
(d) Dfe

List 1I
(1) Rajasthan and Gujarat
(2) North Eastern States
(3) Orissa
(4) Western Coastal Region
Codes :

(@ B) © @
Aa @ G @ @
B) @ G QO @
<o 1 @ B @
D 3 @ 1 @

11.

12.
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@elieideh! hivd fagm =R ome ?
(A) IR T SSOERIeR STed

(B) arar=it Tl & ger=Al S1e Yol Ur=A
L YOG 3T

(C) YeTedt aR § HHGE IOl FHN
STEard

(D) <feror Tienaiaesd I AT
Sodtehe faae 2

I TETHH TR (FEI-1) ST gewr/

T f99 7 3Teedd (IE-II) feoa
3T

-1 & AGH-IT =0 ST Sesad Qe
Gehdieqd ara w@E faer

aret 1
(@) Amw
b) Aw
(¢) Bshw
(d) Dfe
Tret 11
(1) TS Sfur eRid
(2) T T
(3) siifesm
(4) uf=m femEeta wow
Hehdieh :

(@ G © @
@Aa 2 6 @ @
B @ 3 @O @
©c O @ B @
O 3@ @ O @

[P.T.O.



13.

14.

15.

Assertion (A) : In a rising air
parcel the rate of cooling is reduced
after condensation.

Reason (R) : Latent heat is released
during condensation.

Select your answer from the codes
given below :

(A) Both (A) and (R) are true and
(R) is proper explanation of (A)

Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Intertropical convergence zone is a
feature of which one of the following
global circulation cells ?

(A) Ferrel cell
(B) Hadley cell
(C) Morley cell
(D) Polar cell

The concentration of the following
trace gases in the atmosphere in
descending order is :

(B)

(A) Carbon dioxide, Neon, Helium,
Methane
(B) Neon, Helium, Methane,

Carbon dioxide

(C) Helium, Neon, Carbon dioxide,

Methane

Methane, Carbon dioxide, Neon
Helium

(D)

13.

14.

15.
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faam (A) : SEUfGa gagsmeE, o9

HEUT (R) : 3TYhe SoHT TSI YaAT=]
el T B

Tt GehdiehTueh! A fashey ferer .

(A) (A) T (R) < R 2ed 3o

(R) ¥ (A) 9 I TICHI 3T

(B) (A) 4@ (R) T ssR 27ed T (R)
? (A) ° 3T TR0 TR

(C) (A) T s 38 W (R) § T 318
D) (A)%WI%W(R)%W?)TI%
ATq-Iourshea &g TfvEeo &3 ®

TTATATUeh] ShIUTCaT Tehl STHTTdeh JRE=R0T

FHE IR IR ?

(A) A e

(B) ¥l el

(C) HITl hefl

(D) yata whef

STATEROT 3Tcded e JHToT Sase

Wﬁaﬁ@ﬂ%:

(A) HeF sERTeES, M, dfeaam,
A

(B) f1=ia, giferam, oM, sed S™-
S

(C) @ifeam, fam, weq sHsiiesEs,
A

(D) WA, wEq sEeTEEEe, A,
Biferam




16.

17.

In ionosphere the molecules and
atoms of ................... are ionized as
they absorb high energy short wave

solar energy.

(A) Xenon and Argon

(B) Nitrogen and Oxygen

(C) Krypton and Hydrogen

(D) Hydrogen and Methane

: The Earth’s

rotation deflects freely moving

Assertion (A)

object.
Reason (R) In northern
hemisphere movement is

anticlockwise and in southern
hemisphere it is clockwise around

low pressure.

Select your answer from the codes

given below :
(A) Both (A) and (R) are true and
(R) is proper explanation of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation
of (A)

(C)
(D)

(A) is true but (R) is false
(A) is false but (R) is true

17.

SEP - 36221/I1—A

T STIhd BIaId SR o Iod Sl Tgeradl

IR Hord OO I
(A) fast snfor s
(B) -TFSreH STfur SATfeRAS
(C) forea enfor srRrgsH
(D) TESSH 3T HigA

faeam (A) : geat= aReed g =fd

o faafud .

HRUT (R) : HHT SE1EEA] Sl AT

B B Tediers farg fevm @
gfaror eyt TS i ST
Wellel Hehdiehtuen! Ay faehey farer

[a) ha¥

(A) (A) g (R) Tl s@R 3Teq 1o

(R) € (A) 9 Irg TIcehu] 378

-~

(B) (A) @ (R) 3! seR 3Ted Wg (R)

B (A) 9 TH TR AR
(C) (A) T SRR 37 R (R) § TIF 3M&

(D) (A) I e T (R) ¥ s

[P.T.O.



18. Cold-type occluded front will form

19.

20.

when :

(A) The air behind the cold front is
colder than the air ahead of
warm front.

The air behind the cold front is
warmer than the air ahead of
warm front.

The air behind the cold front
and the air ahead of warm front
have same temperature.

The air behind the cold front
and the air ahead of warm front
have equal pressure.

(B)

()

(D)

Out of the total energy emitted by
sun the proportion of visible light is
percent.

D) 1

Arrange the following in the
ascending order of their years taken
for the cycle :

(1) Orbital eccentricity
(2)
(3) Change in axial tilt
A @ @O O
B) G @ @
<€ @2 G @
D) 1) Q) (2

Precession

SEP - 36221/I1—A

18. Ia-eri=l AfYenia STeme! A9

19.

20.

o 3Ea S

(A) I ATHMET=AT AT gaT 30T
STEMET= Ye=Al gauell o€ oT§d

(B) ¥fld swemet=an #FTEl ger 30l
STETET=A Yol gaue SO0 3THd

(C) ¥fid sTerEi=n 9rT= ga< d 3
JTETEST=A1 Y&=A1 goldl Tq9HH |

19

(D) X STEMET=n HFT=AT Fere o 3
STTETS = &A1 Boldl ARHR AREl
3l

Tt St B e S

L& TR FHTOT GIeRorg:

IR,

(A) 43

(B) 49

€ 7

D) 1

n o N

erell fodiean watarT @< =9 qul
HIOIEIST AT ST el ShH
(1 LI

(1) hefg famesa

(2) W=

(3) 1&g SN scd
A @2 @O O
B G @ @
<© @2 G @

M O Q@ @

10
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21' Syzygy refers to : 21. mg:ﬂaﬁ. ..................... F’ﬂ- g’g.rqh a')_{%
(A) T}Ille earth’s position just below (A) e Qﬂf@?ﬁﬁ ot
the sun .
(B) =gl geATel hiehmrEl ferdt
(B) The moon’s position . N
perpendicular to earth (C) YeaT=a1 Uehld WISl STHITEA
(C) Lining of new moon and the sun |s A il
on the same side of the Earth
(D) Occurrence of spring and neap (D) ThTe fQRIC U0 o AT
tides at the same side 0
22. Assertion (A) : Tides are the | 22. faam (A) : =%, T omfor geat e
periodic rise and fall of the ocean et ST diid{iaoélgo\d T AT
resulting from gravitational f N
interactions of the moon, sun and st FAHA o Bl 21 Al e
the Earth. Bld.
Reason (R) : The rotation of the HIOT (R) : Jea= IR, 9l @
Earth, size and geometry of the S st 5 2
ocean basins and local climatic . . ~
conditions determine the local GATH TEordl ATl T
magnitude and periodicity of tides. e swftr fafadar StEd.
Which of the following is correct ? I FUY SET TR ?
(A) Both (A) and (R) are true and
) ) (A) <= (A) 9 (R) 3T F 39T (R) ©
(R) is the correct explanation
of (A) (A) 9 Ir TR B
(B) Both (A) and (R) are true and (B) T (A) @ (R) 319 3Ted g (R)
(R) is not the correct explanation T (A) A FF TTEHF AR
of (A) .
(C) (A) is true but (R) is false (©) (A) ¥ 3T G (R) & TF 3T
(D) (A) is false but (R) is true D) (A) IF e T (R) § F 3T
11 [P.T.O.



23.

24.

25.

The Antarctic circumpolar current

is generally parallel to :
(A) 80° S
(B) 60° N
(C) 60° S
D) 70° S

Which of the following factors affect

the size of wind generated waves ?
(1)
(2)
3)
(4)
(A)

Wind velocity
Wind duration
Fetch

Wave height
(1) and (2)

(B) (2) and (3)
(©) (1), (2) and (3)
D) (1), (2), (3) and (4)

Wave refraction is responsible for the

dispersion of :

(A) Wave energy
(B) Ocean sediments
(C) Planktons

(D) Sea water

23.

24.

25.
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sTeTfer Yamiare JaT8 |IERuE:

(A) 80° <
(B) 60° 3
(C) 60° <

D) 70° T

IR AT STRRAMTER WeieTieh]

HIUA TZh TROUMH Hid 2
(1)
2)

SrTEl S
STl ShTaTeE
T

e Sl

(1) o (2)

(2) =7for (3)
(1), (2) @ufor (3)

3)
4)
(A)
(B)
(&)
(1), (2), (3) 2fur (4)

12



26.

27.

28.

29.

The circular clockwise flow of the

water is called as .................. .
(A) Geostrophic current

(B) Upwelling

(C) Gyre

(D) Littoral current

In which of the following zones are

maximum salinity values found ?
(A) Between 10° and 20° N
(B) Between 20° and 30° N
(C) Between 20° and 30° S
(D) Between 0° and 23'%° S

Gravel and sand will be deposited

ON eeeveeereeneens .
(A) Littoral zone
(B) Bathyl zone
(C) Deep sea zone
(D) Rift valley

Continental shelves are mainly

26.

27.

28.

SEP - 36221/11—A
wreTer=A1 faRI BIUT=aT qrvar=AT Mellehi
..................... B
(A) gTed Yo
(B) 39
(C) ¥
(D) YA Fa®
GeATeTish! shioe fasmma stferes e
T 3eesdrd ?

(A) 10° 37for 20° 3. =M
(B) 20° =71 30° 3. ST=M
(C) 20° AT 30° T. ST=M
(D) 0° 3T 23%° §. TN

(A) s faum
(B) TR W

(C) Tl gt faum
(D) = T

overlain by ...................... type of | 29. ‘Jj\{eis 9 Hlliieqlq ”””””””””” YehT=AT
sediments. IR T=Sifed 3T,
(A) Biogenic (A) Sasr
(B) Hydrogenous

(B) Slest=
(C) Terrigenous

C) &1
(D) Cosmogenous ©

(D) Af¥aenisr=

13 [P.T.O.



31.

32.

represents a boundary zone

between two water masses where

the salinity gradient is steep.
(A) Thermohaline

(B) Halocline

(C) Isohaline

(D) Thermocline

In grassland ecosystem, pyramid of

ENETZY 1S .evvrreerrereenens .

(A) Inverted

(B) Upright

(C) Mixed

(D) Spherical

Coral bleaching involves :

(A) Whitening of the coral skeleton

from solar UV radiation

(B) The loss of coral tissues in
competitive interactions with

benthic algae

(C) The loss of coral tissue due to

the feeding by fish
(D)

The loss of symbiotic algae,
called zooxanthellae, by the

coral due to heat stress

31.

32.
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(C) TIHEATA

(D) YHiFRA

Tadles IREESA, o W (TRHre) @
(A) @

(B) 3=q@
(C) Hfasn

(D) TR

Yolles foSiehId h3m=l THGEYT Bl ?

o~

(A) IR sfaf
BRI

(B) diefien Srarerell TaefcHen STiaXfshai-
o5 YAl Hadld BIVIR ToheM

(C) HIRI=AT WUAHeS BIOR Falled el 1<l
ThEH

5 YOS Yaes ShehlalTd

(D) SEAHIE TUEUTT Festa e

SSHTATIMHS YTedlhed BV JehHM

14



33.

34.

The concept of ‘Ecological niche’ was

introduced by .................... .
(A) J. Grinel

(B) Charles Elton

(C) E. Haeckel

(D) Darwin

Assertion (A) : In recent times, the
biodiversity is deminishing with an
accelerated rate.

Reason (R) : The exotic species are
considered to be a major cause of

extinction of species.
Which of the following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

33.

34.
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‘iifeafae weRdes’ § Hehed T Hed
(A) 3. T
(B) =Teiy Teted
(C) 3 hd
(D) eifeH

faam™ (A) : STellheiel Shleold Safafaed

M e FH B TR

HRUT (R) : foosh WSt & g

foq@ dvare &1 RO "G S

ETATcTyeh! ShITd SRIeT 3R 2
(A) T (A) 9 (R) 319k 37H (R)

(A) 9 Mg TR B

(B) T=I(A) @ (R) 379 3Ted g (R)

B (A) 9 TgH TSR AR

(C) (A) 19 38 WJ (R) § I% 3T

(D) (A) 9= % W (R) T Tg& 3T

15

[P.T.O.



35.

36.

Which is the right sequence for
ecological diversity ?

(A) Biomes — Habitat — Ecosystem

— Population

(B) Biomes — Ecosystem —

Habitat — Niches

(C) Biomes — Ecosystem —

Population — Niches

(D) Biomes — Habitat — Niches —

Ecosystem

Match the List-I and List-II and
select the correct answer from the
codes given below :

List I
(@) Dachigam
(b) Panna
(¢) Bandipur
(d) Indravati

List II
(1) Karnataka
(2) Chhattisgarh
(3) Madhya Pradesh
(4) Jammu and Kashmir
Codes :

(@ ®) @ @@
A 2 3 @ @
B @1 @ @ O
<€ @ 3 QO @
D 3 @ @ @

35.

36.

SEP - 36221/11—A
TRt fafasd=n Jra sH Fivmr ?
(A) Sfesd — fee — aREwer —
e
(B) Shraedl — TR — Tfem™ —
TRfEfie wrwees
(C) Sragsd! — TR — Stowe
— TR RIS

(D) Sheadedt — 31fvemg — aiitfeafas
PG — qREEe

ARI-1 9 ARI-11 A= Sie oo @il
Gehdieqd ara wE faer

I |
(@) <T=RTH
() 9=
() TR
(d) SSTerit

arer 11
(1) tesh
(2) TS
(3) HEATRH
(4) S 9 IR
Hehdieh :

(@ b @ @
A 2 3 @ @
B 1 @ @ O
< @ & @GO @
D & @ @ @

16



37. Assertion (A)

High light
intensities are always associated
with dry habitats and high

transpiration rate.

Reason (R) : Indirectly light
affects transpiration rates through
increase in temperature which
correspondingly affects water

absorption too.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

SEP - 36221/I1—A

37. Ta&m™ (A) : 3=9 TR diadl TeH! I[&h

e o =9 STSUIcHSIH SR et

ST

SIOT (R) : AMUAMG d@ o S
STCTRISUTENET TIOTH SHuAT=AT HIETHI
GRS BT STHCALTIU STSUHST TR

RO Sl

IR HIOA SRS ARG ?
(A) T (A) 9 (R) 315k 3{H (R)

(A) ¥ I TR 3R

(B) 3= (A) 9 (R) 319 3197 (R) ®

(B) Both (A) and (R) are true and
(R) is not the correct explanation (A) = S TSR TR
f (A .
of (A) (C) (A) 3T 38 T (R) ¥ I 318
(C) (A) is true but (R) is false .
(D) (A) is false but (R) is true (D) (A) TH M WG (R) T SF e
38. Montreal protocol is related | 38. HHIZTA WErhlct Hmel ffed e ?
L {0 ST . (A) S AT
(A) Global warming
(B) SiEi==n =™
(B) Ozone depletion
. . (C) 3= o
(C) Acid rain
(D) Water pollution (D) ST& Fgsm
17 [P.T.O.



39.

40.

United Nations Framework

Convention on Climate Change
(UNFCCC) is an International
Treaty negotiated at

(A) United Nations Climate Change
Conference, Copenhagen, 2009
(B) World Summit on Sustainable

Development, Johannesburg,
2002

U.N. Conference on
Environment and Development,
Rio-de-Janeiro, 1992

(D) United Nations Conference on
the Human Environment
Stockholm, 1972

Match the List-I and List-II and
select the correct answer from the
codes given below :

List I
Lithosere

(&)

(@)
)
(c)
(d)

Psammosere

Xerosere

Hydrosere

List II

Water

Rock

(3) Sand

(4) Dry region

Codes :
(a)

(A) (2)

(B) )

(C) 4)

D) (2)

(1)
(2)

)
(4)
(2)
(1)
3)

(c)
3)
4)
3)
4)

(d)
(1)
(1)
(2)
(1)

39.

40.

SEP - 36221/I1—A

TS AR THIH hegx S FATHE
= (UNFCCC) 31 TR el
................ aa qldlqld'\l 5‘”@&“.

(A) TgF TEIM TEWH ded IR,
HIITT™E, 2009

(B) v¥ad fasm@m@da Sae aReg,

STe=Tert, 2002

(C) TAfERY F forentd Feariiel T T
qiteR, Ref-di-smid, 1992

(D) HFe qAERY Aeid HIeR FEAT

qReg, Eiha™, 1972

AEI-1 9 ARI-I1 Fr= A ST Je3ad
Teiiel Fehdlhlqd aig 9aid el :

RICUN |
(@) TagER
(b) TEER
(€ RER
(d) TEGER
et 11
(1) groft
(2) TSH
(3) =1
(4) Ik
Tehdiah :

(@ b)) © @@
A @ @ B @
B 3 2 @ @
< @ O 3 @
D 2 B @ @

18



41. Match the following and select the

correct answer from the codes given

below :
List I
(Basis)
(@) Distance
(b) Causes
(c) Number
(d) Time
List II
(Types)
(1) Individual migration
(2) Temporary or permanent
migration
(3) Economic or social migration
(4) Long or short migration
Codes :
(@ b)) @ (@
Aa @ O @ 3
B @2 @ @ @
© @ & @O @
M 3 @ @ @

SEP - 36221/I1—A

41. e Sega S @relt feeied Hehdreni

g Sa e
EICU |
(STME)
(@) 3R
(b) ®HRY
(c) F&
(d) o
ardt 11
(CIER))
(1) SFfRe T
(2) IR fhan FETEE TR
(3) sTfdieh foRan wHIfSTh TR
(4) & oo fRal TH doel TE
Hehdich :
(@ b)) @ ()
A @ @O @ O
B @ @ 6 @
¢ @ B @1 @
O & @2 @ @

19
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42. Assertion (A) : An outstanding

43.

feature of rural-to-rural stream
of migration in India is the
preponderance of female migrants.

Reason (R) : This is primarily due
to patri-local residence after
marriage (marriage migration).

Which of the following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(A) is true but (R) is false
(A) is false but (R) is true

City region refers to one of the

(B)

(&)
D)

following :

(A) An area demarcated by
Government

(B) An area around the city to
which the city has transport

linkages

(C) An area around the city over
which the city exercises a
dominant influence in relation
to other neighbouring cities of

equal importance

(D) An area of the city that supplies
food and labour resources to the
city

SEP - 36221/I1—A

42. faegm™ (A) : 9RAdA UTHOT-TTHTOT

43.

TIATR JaTR Skt ATt TSt S

&RUT (R) : T J&ad: AEeRl

I ST (A TAAR).

IAMHT FHIA TSR AR ?

(A) (A) 3T (R) SI=iel sRIeR 31T (R)
T (A) 3 g favam R

(B) (A) 371 (R) Trgiel sk =g (R)
T (A) 9 g% favew A&

(C) (A) TR W (R) I
(D) (A) I g (R) TR

e & WAteTieh] TeRTel Hefed oTe .

(A) THRgER FRRa &=
(B) IRl SASEET 9 S99 e

EIRSCIRE CREKIK]

(C) IR SATSESAT TREL STeX

TSI RE=AT Jed-d AT eIl

TEYU YT ST
(D) BT T S el 3 9 91

e qREd

20



44.

According to Demographic
Transition, if the Crude Birth Rate
(CBR) is 35/1000 and the Crude
Death Rate (CDR) is around

20/1000, then the country is placed

(A) Pre-transition
(B) Transition
(C) Post-transition

(D) Indetermined as per data given

44.

SEP - 36221/I1—A

STHEAT A HHRHAIER, SR Bl ST
T (CBR) 35 Wfd 1000 31T @eles G
ST (CDR) ®1 |ERUR: 20 Hfd 1000 7,
W AT AW R AT YA ?

(A) qa-HHAT

(B) HHHT

(C) THHOIR

(D) feetemn AMfedigaR AfiE=a

45. Given is the list of functional zones | 45. @Il V=T HEHE fa9m AT et
of a city. 3TR.
(1) Central Business District (1) Hfeq =emE faam
(2) Industrial Suburb Q) SefTE TR
(3) Outlying Business District 3) ; -
(4) Residential Suburb
(4) THemeft TR
As per the Multiple Nuclei Model, . . .
o Sgehald FTHMITER, I g3y feret :
which is the correct answer ?
(A) Only (1) and (2) are correct (A) wsd (1) (2)
(B) Only (1) and (4) are correct (B) e (1) (O (4) SR
(C) (1) and (3) are correct (C) ®H (1) 20T (3) SR
(D) (1), (2), (3) and (4) are correct D) (1), (2), (3) =0T (4) SR
21 [P.T.O.



46.

47.

The year 1921 is widely viewed as
the ‘Year of Demographic Divide’ in
India because :

(A) Fertility rate showing an
excessively upward trend after
this year

There
migration of people from rural
to urban areas

(B) was accelerated

(C) Mortality rate began to decline
leading to accelerated

population growth

(D) Demographic stability achieved
for the first time after World

War-I

Assertion (A) : In the first stage
of demographic transition, mortality
remains high but fluctuating.

Reason (R) : Mortality rate
fluctuates in response to epidemics
and variable food supply in early
stages of human history.

Select the correct answer from the
codes given below :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(A) is true but (R) is false
(A) is false but (R) is true

(B)

(&)
D)

46.

47.

SEP - 36221/I1—A
AEEd 1921 oS 7 SHEATR

N N

faursisr ' wU[A YA Uifgd S

0T ¢

(A) S TS el & TG HIS

FHOTG SR SO fGgd I mea
(B) Tiehi= TR ATHIOT YIRS I

YNTehe detel fedd

(C) 9l A YAV HUaE ool

AT ThEEAT a1 SFTaT STel]

(D) SEEASE B ufgea Smfaew
IHTR Ufeedial T1e HIvA STt

faam™ (A) : SHAEARE W AT
Tfeean oATd, G S o4 STl JUT T
TSR feHa.

HRUT (R) : Al sfaemar=n grfvyes
sTeReHel W™ I SN T queel
e e T TUd Fe-3dR B

o o

Tt foeiedr FehdishJaR ard Ik

arer

(A) (A) a7for (R) Srel IR 37T (R)
T (A) 9 Iy fagawm oTme

(B) (A) amfor (R) S8t sk g (R)
T (A) 9 Iy fagarso =@t

(C) (A) =R TG (R) I
D) (A) % TG (R) TR

22



SEP - 36221/I1—A

48. Who postulated the forces of | 48. TR TR TN SR TCHTATAT
diversification and unification for Trafagaasy g@(ﬂ Tafae-
striking a balance in the regularities FIUMR T THIHIOM ot R0 Hige ?
of shape and size of settlement ?

(A) TR BT
(A) Homer Hoyt

(B) 3. 3ead
(B) E. Ullman
(©) G. K. Zipf (©) S = faw
(D) Mark Jafferson (D) I SR

49. e is useful in objectively | 49. 3R AT FHIEd SHALaE TS3Tl
measuring inter-village settlement QeI ST 3
Spacing. (A) e FiadH
(A) Gravity model . .

(B) 9% dise fagum
(B) Break-point theory
gfaaelt frredr faversm
(C) Nearest neighbour analysis ©)
(D) Concentration index D) Fehf5a T—‘ﬁ

50. Which of the following statements | 50. @Tcieiish! HIvd oM gent= e ?
. o 0
1s not correct : (A) formar S gey ST
(A) More males are born than 5

females (B) I <T@ 65 Y& ST A
(B) More males than females are et FASTET S 3o Sfigey
found in higher (65+) age group T
in European countries (C) YRANTa cehaeda & Jam
(C) India has less females than W&ﬂ FH aT
males in its population
D) J. TH. U HY G- T
(D) U.S.A. has a sex ratio more D) % W T ) KN
favourable to women SR & ST STehfad o
23 [P.T.O.



51.

52.

Which of the following type was not
included in seven-fold system of land

classification given by L.D. Stamp ?
(A) Arable

(B) Heath and rough

(C) Urban areas

(D) Rural areas

Assertion (A) : China is the largest
producer of hydropower in the

world.

Reason (R) : There is favourable
physiography, capital and access to
high technology in China.

Which of the following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

51.

52.

SEP - 36221/I1—A

T Bl L I e gt afienore
-Td Yufeld  @eierdeh] hiore
YRR HHORT B ARl ?

(A) ArEEl I

(B) 984 9ra & WSl YAl

(C) ¥l &=

(D) wTHioT &

gfqured (A) : SOd =1 gaifees Sid

ol 3ced Ll

&RUT (R) : <9 Grhfds &,

qead 9 Iod qAAEE] A TR
TR
IR HIVH SRR 3T ?

(A) (A) g (R) Sl &R 3TMed (0

(R) ¥ (A) & 3T TR TR

(B) (A)d (R) Sl s 3Ted =g (R)

T(A) T TH TICHRI AR
(C) (A) & <R 378 W (R) B 3 R

(D) (A) I 3% g (R) T TR 31

24



53.

54.

Assertion (A) : The satellite
imageries have revolutionized. The

technique of land use classification.

Reason (R) : Traditional land use
survey gives a static description of
existing land use and is very time,

effort and money consuming.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and

(R) is not the correct explanation

of (A)
(C) (A) 1s true but (R) is false
(D) (A) is false but (R) is true

Which of the following is not a
primary industrial region of the

world today ?

(A) South Asia

(B) Eastern Asia

(C) Western and Central Europe

(D) Eastern North America

53.

54.

SEP - 36221/I1—A

YT (A) : ST UidHTHos qHT SIS

RO T Shidl ool 378,

ShIOT (R) : TRURER HT STASH FA&I0md
Teerdiviiet wnfedt fesd o § des, &9 3mfor

T IgeH wfds TR

ATRT HIA TS 3T ?

(A) (A) T (R) T8 SRR 31ea 37101

(R) ® (A) & 379 TISIHRIU 3T

(al haN

(B) (A) 9 (R) =l &R 3Ted R (R)

T (A) 3 TgH TRHI AT

(C) (A) T =R 378 W (R) ¥ I 3T

(D) (A) I e T (R) ¥ SR

eiikcafical sl e IS UIc | IeIRIEED
i wow A ?

(A) Tferor sifern

(B) gd afyrn

(C) uf¥=m 9 weg WY

(D) e TR

25
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55.

56.

(A)

exploitation of natural resources and

Assertion Unplanned
their use is a major problem of the

present day.

(R)
development should be taken for the
of the

Reason Sustainable

conservation natural

resources.

Which one of the following is

correct ?

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true and

(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

The proportion of area under various

crops at a point of time is known as :
(A) Crop combination

(B) Cropping pattern

(C) Crop concentration

(D) Crop diversification

55.

56.

SEP - 36221/I1—A

gfaures (A) : sifESHYds  S9fiis
WYTEIE SO0 9 oI SUET wl

ST Fhledldicl Ueh JHE THE1 3TR.

HROT (R) : A9 Feqagu<=ar

HALAMESt vMeed IRl g el

AAETTh  3TR.
IRl UG SIS 3R ?
(A) (A) 9 (R) Tl e 3Ted 3101

(R) T (A) = g% TR 3T

[a ha¥

(B) (A)d (R) =l seR 2Ted g (R)
T (A) 3 oTgH TARIHI TR

(C) (A) B SR 378 TG (R) € I 378
(D) (A) I 38 W (R) T TR 31
@ faftte wemada fafay et

& YUY S WU 2
(A) W HASH

(B) Wi Thfqa

(C) W TR

(D) e fafaeiemo
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57.

58.

How many stages are there in the
regional method proposed by
Chadwick ?

(A) 03
(B) 04
(C) 06
(D) 08

Which of the following statements
about Von Thunen’s theory is not

correct ?

(A) His theory of agricultural land
use is based on the concept of

economic rent

(B) Thunen’s main aim to present
the theory was to show how and
why agricultural land use
varies with distance from the

market

(C) According to Thunen’s model-I
the intensity of production of a
particular crop increases with

distance from the market

(D) According to Von Thunen’s
Model-II the type of land use
varies with distance from the

market

57.

58.

SEP - 36221/I1—A

T feIeh AT TS Sholedl W ITeh SR Ll

Tgdia fRdt stemen smed ?

(A) 03

(B) 04

(C) 06

D) 08

S ST FAgTaraE Tefereh! hivwd
foum @@ @ ?

(A) =1 FwH ot SuEeE e @

aifefer YTeeT AT HehoU-ay ST

S

(B) SSRUSTRASAT STAUTHR FHet ot
ST ®Y F H S_ad § HEL

Sh XTI HHE SERT AT rHoS\iCIITJI

Kl
AT gred-1 yam fafire we

fUepT=aT SCUTEAT=T digdl dSTUS-

(&)

T[T SAUTER e

(D) L= YEy-11 JHR SSRUS-

L] N
QA=A HAARIFHAR Q-P:ﬁ SEEINEREIN

el
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59.

60.

Who among the following has
proposed model of development
based linear

on principle

development ?
(A) Rostow
(B) Losch
(C) Kindell
(D) Christaller

Arrange the following multipurpose

projects in India from north to

south :
(1) Damodar Valley Project
(2) Bhakra Nangal Project
(3) Tungabhadra Project
(4) Kosi Project
Codes :

A) (1), (2), (3) and (4)
(B) (2), (1), (3) and (4)
(€) (2), 4), (1) and (3)

(D) (4), (2), (3) and (1)

59.

60.

SEP - 36221/I1—A

Yo foentd dater enenia faerar Wy

TIeietdeh! I YEIfad el T8 ?
(A) =T
(B) e
(©) fra
(D) fgwer

TRATH S et fqeied Sg3esid HehedTa
I d Ifor eft ArSUR wA

(1) THRT @R Yehed

(2) WA ATA Tehed
(3) VST ehed

(4) HIE Yehed
Hehdich :

(A) (1), (2), (3) =7fur (4)
(B) (2), (1), (3) =7fr (4)
(C) (2), (4), (1) =1for (3)

D) @), (2), (3) =for (1)
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SEP - 36221/I1—A

61. Assertion (A) : Space is an active | ¢1. faeamT (A) ; AT T THITSHR fEamed
agent in social well-being. T GhFT HNE TR
Reason (R) : Ghettos in American R) : of et 2 \f 3
cities are spatial manifestation of . . ..
o ST S ATl T STt
extreme racial discrimination.
Which of the following is correct ?
qrﬁaﬁ E 1 IS EUCEA ?
(A) Both (A) and (R) are true and e
(R) is the correct explanation (A) (A) 1for (R) gt R 3707 (R)
of (A) 2 (A) 3 o favemo oR
(B) Both (A) and (R) are true but (B) (A) a1 (R) S TR g (R)
(R) is not the correct explanation
T (A) = 3w favaw -
of (A)
(C) (A) is true but (R) is false (C) (A) =R T (R) TP
(D) (A) is false but (R) is true D) (A) FF T (R) TR
62. Which statement is true with | g2. m Tl B[ YRArESHId hIoTd
f to Indi Itural
reference to India as a cultura faom T T 2
region ?
(A) Land of origin of religion (A) smien s o (fég, 359, 9,
(Hinduism, Budhism, Jainism, 3i@)
Sikhism)
Sl HigdT gt 3
(B) Land of world’s largest religion (B) T ()
(Hinduism) (C) @Qa-{aﬁ'} gt aq;q"}
(C) Land of monotheistic religion . .
(D) wmfER el TSRt farsHrEn
(D) Land of political divisions based
on religion kul
29 [P.T.O.



SEP - 36221/I1—A

63. Types of boundaries (List-I) and | g3. =&)-1 g8 SigM™ gR i1 IE1-11 953

their description (List-II) are given = fgarr el feoel oM. @l
below. Select the correct answer from Crarat %ieF»cliqolH%ff STIF I fraeT -
the codes given below :
RICU |
List I
(@) gaigad!
(@) Antecedent
(b) SEd!
(b) Subsequent
(c) ITEFNA
(¢) Superimposed
(d) TaRTEI
(d) Relic
et 11
List II
(1) dfreh-"repfas faam
(1) Ethnic-cultural divisions
2) gdwEdeh fgam
(2) Colonial divisions @
(3) Ta S

(3) New world
(4) TSY A0 SIS 9

TR IV o) 38 ?

(4) States are abandoned

Which of the following is correct ?

Codes : Hehelih :

@ ® © @ @ ® © @
@ DO B @ @ @ D 6 @ @
B @ O ©@ @ ® 3 O @ @
© @ @ @O © © @ @ @O ©
D@ O @ © D@ 1O @ 6
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64.

65.

Arrange the following language
dialects spoken in India in order of
their spoken areas from North to

South :

(1) Tulu

(2) Telugu
(8) Dogri
(4) Santhali

Which of the following is correct ?

Codes :

@ @ 3 @ @
B & @ @ @
< 3 @ @ @
M 2 @ @O O

Which of the following is not a factor
in the development of federalism in

a country ?

(A) Practice of totemism and
animism

(B) Large geographical size

(C) Physiographic diversity

(D) Socio-cultural diversity

64.

65.

SEP - 36221/I1—A
IR Scalehgd SI&ruraeid sered
S0 o > = o e | g s M T EG LR
el

1) 91

(2) dq

(3) =

(4) gorett

MR HIU@ TSR S 2
Hehdiah :

A O B @ @
B B @ @ @
© B @ @ O
O 2 @ QO G

I HoSg faehmEm=n @efterden!

DIV Th TSHh ARl 2

(A) ThdE M0 THTEE I T
(B) Hia1 drifess 3R

(C) Wi dferen
(D) g -grEnfaes dfaed
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66.

67.

68.

69.

Who from among the following four
geographers is considered the
pioneer of cultural geography ?

(A) Richard Hartshorne
(B) Carl Sauer

(C) Carl Ritter

(D) E. Huntington

Diffusion of religion and language
is not attributed to which of the
following ?

(A) Missionary activity
(B) Trade linkage

(C) Education

(D) Political system

Which state of India alone accounts
for one-third of the country’s
Christian population ?

(A) Kerala

(B) Mizoram
(C) Tamil Nadu
(D) Nagaland

Who is the father of functional
approach in political geography ?

(A) Ratzel
(B) Haushofer
(C) Hartshorne
(D) Mahan

66.

67.

68.

69.

SEP - 36221/I1—A

T TR FICTATIeh! ShIvTel Wik e

A U HEA STd 2
(A) = e
(B) Tl HRX
(C) = X
D) T Efmed

AfET F IO YR STeteTdeh! hemsi
Hefad @l ?

A) Temh =«

(B) SMUR Hey

(C) fareor

(D) TSThT HeEdl

ARATAA IO TSAd Y0 SRMAT
TEd ?

(A) el

(B) freirm

(C) drHieTe

(D) AT

o N [aV o o ha¥
USTR T YIATdId shTdlcHesh  GIoZeh [T

faamg o1 M 2
(A) (==

(B) BHEW

(C) ®=re=MH

(D) ™
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70.

71.

At district level, the scheduled tribes
enjoy a dominant status (more than
80% share in the total district
population) in which of the following

regions of India ?
(A) North-western
(B) North-eastern
(C) Central

(D) Southern

Assertion (A)
geography laid importance to human

Behavioural

activity in space, place and
environment by studying it at the

level of the individual person.

Reason (R) : Geographers in the
Western societies discovered the
utility of mental maps in
understanding why spatial planning

failed in most cases.

Select the correct answer from the

codes given below :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)
Both (A) and (R) are true but

(R) is not the correct explanation

of (A)
(A) is true but (R) is false
(A) is false but (R) is true

(B)

(&)
(D)

70.

71.

SEP - 36221/I1—A

SRS, YIRATEAT Tl deh] hIoTe]
govd SAIYfad SHET (TR Sew]
AT 80 Fhuell S YHII)
grerear foga Ja ?

(A) &

(B) T

(C) 5&A

(D) e

faem (A) : A e SAf9EE, T
3O JTERuNd SHeRiT=A1 SafeRkieh ATdesiat

JIE FHEA TEe foRa e oo

R,

HRUT (R) : 919 THUTHEA Tt

TSI A1 STERTEE STt & WHS[T HUareel,

e HATSIA IR AR

TR SR T

arell foeiean Seohdienmyd ST 1A

IEEEINE

(A) (A) 7o (R) <2 & ek eafon
(R) % (A) 9 3% fovermor o1

~ .

(B) (A) 31 (R) Sl sl g (R)
T (A) 3 1w favamm =@

(C) (A) TR g (R) IH
(D) (A) I g (R) TR
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72. Which of the following is/are not

correct with reference to Humanistic

Geography ?

(1

2)

3)

4)

(A)
(B)
(&)

(D)

It is distinguished by the
central and active role it accords

to human awareness.

It induces geographers to take
expeditions to the poorest and
the most depressed areas with
a view to obtaining unbiased
first hand information about

them.

It is an attempt toward under-
standing meaning, value and
human significance of life

events.

It is an expensive view of what
the human person is and can

do.

(2) and (3)
(3) and (4)
(2) only

(4) only

SEP - 36221/I1—A

72. WA AT TSN @ea ]

T R IV ?

(1)

(2)

3)

(4)

(A)

(B)

(&)

(D)

T A STTEehdTen Heferd 7 1o

N

eldld.

qiha YfHehgaR 7o
e sirereHe watd e Ao
3Fcdd ST wrmmed foer germ-
T Hifeeht fesavaren gfeshmg
Hifed BT ST

Ster HeAT= 31, Yo S Ael
HEwe HHSH EUAE B Tk U
3R,

YHAE et i 3T M0

& IR A T foeqd gftesnm
R,

(2) 3 (3)

(3) smfur (4)

(2) &

(4)
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73.

Name of scholars (List-I) and their
contributions (List-II) are given
below. Match List-I and List IT and
select the correct answer from the
codes given below :

List I
(@) Ptolemy
(b) Strabo
(c) Eratosthenes
(d) Herodotus

List II
(1) First who noted the delta

forming process in large rivers

(2) Believed that Indian ocean was
enclosed by joined coasts of Asia

and Africa

SEP - 36221/I1—A

73. ARI-1 7 fagam o7 Ael-11 93 ==

A et foad ete. w1 s
A1 & Jegan ofo @edt faere
HhahMyd 3IaR el ¢
EICU |
(@) e
(b) sl
(0) TR
(d) Tee™
rdt 11

(1) dfga s Higa FediTed FAYS wew
TR QoM Wk Aigeret.

(2) 8 AMA i fedl wemrR SAfiren
9 AftheheAl fRARUeEH Her Bl

(3) Calculated the earth’s
circumference (8) oA FRETS T et
(4) Famous for his work, (4) fSTUTRER e TUges GiEg
“Geographica” e
Codes : @ & © @
(@ B @ @
@ D G @ @ A @O G @ @
B) 3) @ 1 (@ B B @ @O (@)
© 2 @ 3 O © 2 @ G @
O @ @O @ O M @ @O @ O
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74.

75.

76.

Which is the correct sequence of
development that took place in the
history of geography ?

(1)

(2) Post-modernism

Possibilism

(3) Behaviourism
(4) Quantitative
geography

Codes :

(A) (2), (3), (4) and (1)
(B) (1), (4), (3) and (2)
(C) (1), (3), (4) and (2)
(D) 4), (3), (2) and (1)

Outside the United States, which
was the university where a major

analysis in

centre of quantitative-theoretical
geography had developed ?

(A) Oxford University, UK

(B) University of Halle, Germany
(C) University of Nancy, France

(D) University of Lund, Sweden

Which one of the following is known
as the language of geography as
spatial science ?

(A) Ecosystem
(B) Environment
(C) Landscape
(D) Geometry

74.

75.

76.

SEP - 36221/I1—A

YITAT=A SfTRTETd Seied foerr e 31
3THH DU TR 7

(1) TeaER

(2) Scr-SYfehdrerg

(3) FAUHA

(4) el FearcHsh  fagerso
Hehdich :

(A) (2), (3), (4) =7fo1 (1)

(B) (1), (4), (3) =7fur (2)

(©) (D), (3), (4) =101 (2)

(D) (4), (3), (2) =7fo1 (1)

T T A, 10 IS 318
519 T -Sgifas e T e

g foaskfaa e ?

(A) ATRIHS foem

i3, I
(B) T foeemdis, sH+

(C) =4t focardis, w4

(D) e facards, wied

WICATeTieh! SRIVT FIet TS Tereit fars
BUA e S ?

(A) uftEEen

(B) e

(C) 5=

(D) ffeit
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77.

78.

79.

Who is considered the originator of
dualism between physical and
human geography ?

(A) Carl Ritter

(B) Oscar Peschel
(C) Elisee Reclus
(D) George Gerland

By means of ‘genre de vie’ and other
concepts which school of Human
Geography replaced the exaggerated
Ratzelian notions of environmental
determinism by the elastic concept
of possibilism ?

(A) British
(B) German
(C) French
(D) Dutch

Who for the first time clarified the
relationship between special
(Regional) and General (Systematic)
Geography ?

(A) Buscheng
(B) Humboldt
(C) Kant

(D) Varenius

77.

78.

79.

SEP - 36221/I1—A

IV W S A e Jremd
SAaE & HIUN IS el o 2
(A) e X

(B) 3if&Rt Uv=d

(C) Tl s

(D) St TRes

‘SR-S-mE S g Hehedren
ST, TS A=A hioe fo=m-
TATEH HHIZACTAT FEhigar TAeu
I

(A) Tt

(B) <A

(C) %

D) ==

ToRTe (WIefRTeR) STIfor A= (RS}
TARTA qfEeHRT HIv Foig T
Hal ?

(A) FE=

(B) THIee

(C) e

(D) =g

80. Who for the first time attempted a | 80. qfeediel Seqdl o IO AT SR
classification of plants and animals ? HLOITE T IO hell ?
(A) Count Buffon (A) HHS THH
(B) James Rennel (B) s/ d
(C) George Forster (C) SISl HREX
(D) John Ray (D) S X
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81.

82.

83.

Which of the following situations
would exist when the slope is
referred as 100 percent ?

(A) The horizontal distance is

double than vertical difference

(B)

The horizontal distance is same
as the vertical difference

(&)

The horizontal distance is half
than the vertical difference

(D)

The horizontal distance is 10
times of the vertical distance

The sensing and recording ability of
the sensor in different wavelength
of electromagnetic radiation is
known as :

(A) Spatial resolution

(B) Radiometric resolution
(C) Temporal resolution
(D) Spectral resolution

Which of the following are used for
calculating drainage density ?

(1) Stream length
2)
3)
4)
(A)
(B)
©)
(D)

Stream order
Basin perimeter
Basin area

(1), (2) and (3)
(2) and (3)

(2), (3) and (4)
(1) and (4)

81.

82.

83.

SEP - 36221/I1—A

EATeTeh! ShivTat Tt etfdend 18

g1 IAR BT 100 2ok TIiferetetl 319 ?

(A) 3T M § 39T HIHA gHS
3T

(B) 3Ted 3R T S HLhERE 3T

(C) 3TTed 3T ST H{ehr=Al 19 3/

(D) 3T 3 IHAT AT TIUS A

HagE™ (Sensor) ToRId-gaen d TROTHI
fafare TTee e Hogd & Aig huar=
..................... 34@ w’

(A) stfeEta faamem

[ fa

(B) fafertutidia fa=msm

o N

(C) wTAaTd o

~

(Sl

(D) vy fa

[ (aV [aV N A AV
(AR ] enleUHIdISl EletleiYen] enlVicd]
SCh=l I hedl Sl ?

(1) =R et
(2) TR %A
(3) @R TRfHdt
(4) frem &5
(A) (D), (2) 9 (3)
B) (2) 9 (3)
©) 2), 3) T 4
D) 1) 9 4)
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84.

85.

86.

Which of the following profiles
represents only an outline of the hill

ranges ?

(A) Cross profile

(B) Longitudinal profile
(C) Composite profile
(D) Projected profile

Method of data collection changes

primarily with :

(A) Subject of investigation
(B) Scope of enquiry

(C) Statistical technique
(D) Study area

Which type of regions can be best
analysed by “Principal Component

Analysis” ?

(A) Non-developed region
(B) Formal region

(C) Functional region

(D) Planning region

84.

85.

86.

SEP - 36221/1I—A
EWROT g¥feal Age ?
(A) e
(B) gt
(C) fa=
(D) w&a

HifEeh! STHT SHvATeA TGAHes Y
o5 el Blawd.

(A) oot <ensh

(B) <h3f=i =g

(C) TEARTSE a3

(D) AT &

SRV FehT=a Yasm fargeioor * fufaer
FHIFME HHE' TR AFIURR Bl
RS

(A) I TR

(B) Siiu=niieh Wl

(C) FERfA wew

(D) frEsE gawt

87. Which of the following options is true | 87. &HrcHe® favHaeal faaeom=a1 <Tedid
for a positively skewed distribution ? QTefieTush! o faem IgH IR ?

(A) Mean > Median < Mode (A) HE9 > HE < dgelh

(B) Mean = Median = Mode (B) 9¥9 = HEAM = dgoich

(C) Mean < Median < Mode (C) 789 < A < d&geih

(D) Mean > Median > Mode (D) 99 > AL > dgcih
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88. Match List-I and List-II and select

the correct answer by using the
codes given below :

List I

(Satellite)
(@) ASTER
(b) MODIS
(c) Cartosat
(d) IKONOS

List II

(Major Application)

(1) Used for cartographic
application, urban, rural and
coastal land use and other land
information system

(2) High resolution commercial
satellite used for land use
studies, natural resource,
disaster management etc.

(3) High resolution multi-spectral
stereo images for digital terrain
model, change detection of land
surfaces

(4) Used for large scale global cloud
cover, radiation budget and
oceanic studies

Codes :

(@ ®) @ @@
A @O @ G @
B @ & @O @
< @ 3 @2 @
D B @ @1 @)

SEP - 36221/I1—A

88. ARN-I & ARI-IT A=A ST Sesad @eid]
HahdahiE arg g fHaer
It 1
(3urR)
(@) AKX
(b) HrENY
(c) eI
(d) SFHREAE
RGN |
(U@ 3T
(1) A= IR YTHSA TR,
AR, AT g e 9T

ST AR q8 - Hifed! Joeii-
Ty Bl

(2) 3= fadreM &THd=AT SAEHTH
SUTETET SYAN ST o, Fafifeh
HYEIc o Al T

(3) S=u forisH ad=an agaviuee
TrfHe afaamT=n ST SR Yo

gyfaa d99 SfHA=a a9

ICATT T HIUATEE Bl

(4) TN S dfYes @me &,
Torfertor siSie & Tl 3T hvare!
2l

Hehdich :
(@ b)) (@ (@

A o @ 3 @

B 2 3 1 @

< @ & @ @

O & @ @O @
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89.

90.

Match List-I and List-II and select
the correct answer by using the
codes given below :

List I
(a)
®)
(c)
(d)

Isohypse
Isohel
Isocrymes
Isonephs

List II
(1)

Equal cloudiness

(2) Equal height and pressure lines
(3) Equal sunshine
(4) Equal frost
Codes :
(@ B (@ (@
A O 2 @ B
B B @ @O @
< @ B @ @
O 2 B @ @

Which of the following spatial
analysis method in GIS can
effectively detect changes in land
use/land cover ?

(A) Proximity analysis
(B) Overlay analysis
(C) Buffer analysis
(D) Network analysis

89.

90.

SEP - 36221/I1—A

-1 & A1 A= ST Sesad @it
Hehdlehlqd avg W e .

et 1
(@)
®)
(c)
d)

(1)
(2)
(3)
(4)
Hahdieh :

(@)
(A) (1)
(B) 3)
C) 4@
D) (2)

)
(2)
(2)
@ @ @
@ @ @

@l Yrifees ATfedt Toeiidiel Shivrdl
rfveia fagasor gga & S s
F AT STEOT sieed INEvITETS!

ST I ?
(A) gHTar fawersor
(B) 31=ARIMuT foargersmm
(C) & forgetemom
(D) STl fagersmon

(c)
(4)
(1)

(d)
3)
4)
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91.

92.

93.

Which one of the following is not a
lagoon ?

(A) Ashtamudi Lake

(B) Chilka Lake

(C) Periyar Lake

(D) Pulicat Lake

Which one of the following is not an
Anticident River ?

(A) Indus

(B) Satlyj

(C) Ganga

(D) Brahmaputra

Which of the following statements
is/are true about the role of Sub-

Tropical Jet Stream (STJ) in Indian
Monsoon mechanism ?

(1) Sub-Tropical Jet Stream is a
narrow band of fast moving air
flowing from East to West

(2) Sub-Tropical Jet Stream in
northern hemisphere flows
between 25° to 35° N in the
upper troposphere at a height
of about 12-14 km

(3) The burst of monsoon depends
upon the upper air circulation
which is dominated by Sub-
Tropical Jet Stream

Code :

(A) (1) and (2) only
(B) (2) and (3) only
(C) (1) and (3) only
D) (1), (2) and (3)

91.

92.

93.

SEP - 36221/I1—A

WAt I ot ST ATat 2
(A) STIHE! HeX

(B) foesht HleR

(C) IR T

(D) Yferehd |
WICATeTih! IV Teh qarad] Tt ATer 2
(A) fay

(B) €derst

(C) T

(D) =g

STeTadeh! ARdE AgA A=
gfrdd SU-SoUrRfeaeid e YaTers

gffegatt ®wiva faum(3) sEF
() ?

(1) 3U-IHCHLNT S YaITE 71 JAh g
‘JI\?‘C{HOI')S A4 Al U=l 0|I~¢II"CH
3T TSI IR

(2) STR Tengid 3U-SWh{caET T
TATE qUEdie aie & gaR
12-14 Tt S<eR 25° T 35° 3@
T FTeard.

(3) AT SIFTHA IU- IR ICHE Sie
JATRTAT YUE 3T Y gl
IRE=ROMER STaeed 3T,

Hehdleh :

(A) (1) 9 (2) ®e
(B) (2) 9 (3) we
(C) (1) 9 (3) He
D) ), (2) = (3)




94. Match List-I and List-II and select
the correct answer from the codes

given below :
List I

(Biosphere Research)
(@) Nokrek
(b) Simlipal
(¢c) Nanda Devi
(d) Manas

List II
(State)
(1) Assam
(2) Uttarakhand
(3) Odisha
(4) Meghalaya
Codes :

(@ b)) @ @
A @ & @O @
B & @ @ @
© 2 & O @
M @ & @ @

SEP - 36221/I1—A

94, QI o ARI-IT I Sirea ST @reiel
HehaeiE 9y e Haer

a1
(vitfara Sife &)
(@) THH
(b) Towefae
(c) a1 Qe
(d) A
arer 11
(=)
(1) 3™
(2) SaES
(3) sfifewm
(4) e

(@ ) © @
A @ Q@ @O @
B 3 @ @ @
© @ & @O @
M @ Q@ @ @
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95.

96.

Which of the following statements
about laterite soil in India are

correct ?

(1) It is generally red in colour

(2) Cashewnuts grow well on this
soil

(3) It is poor in Nitrogen and
Potash

(4) It 1is well-developed in
Rajasthan

Choose the correct answer :
(A) (1) and (2) only

(B) (1), (2) and (3) only

(C) (1), (2) and (4) only

D) (1), (2), (3) and (4) only

As per 2011 census, which of the
following cities are not a million plus
city of Maharashtra ?

(1) Solapur

(2) Kolhapur

(3) Aurangabad

(4) Amaravathi
Codes :

(A) (1), (2) and (3)
(B) (2), (3) and (4)
(C) (1), (3) and (4)
D) (1), (2) and (4)

95.

96.

SEP - 36221/I1—A

EeiTeAdeh! Il faem wRdrder st
o1 Fad IHA A ?

(1) < 9H=Id: A= ST

(2) I HIoR HISE! 3caRd =T B

(3) o RS SmUr WY A WHIT
T 3T

o o

(4) T TSEATTHED =TTt faemfga
eI 3T

Iy I Haer
(A) (1) 27for (2) Fed

(B) (1), (2) 37fU1 (3) e
(C) (1), (2) 37T (4) e
D) (1), (2), (3) 37T (4) T

20113 SFRTVHER Ieieiieh! HeRIsie

I SAEl e AR ?
(1) Heg

(2) eI

(3) SRR

(4) ST

Hehdieh :

(A) (1), (2) =i (3)
(B) (2), (3) fur (4)
(C) (1), (3) 3Tfur (4)
(D) (1), (2) 37T (4)
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97. Assertion (A) : The concept of agro-

ecological regions of India is a

modified version of agro-climatic

regions.

Reasoning (R) Food and
Agricultural Organisation (FAO)

classified the difference between

these two terms in 1983.

Codes :

(A) Both (A) and (R) are true and

(R) explains (A)

(B) Both (A) and (R) are true but

(R) does not explain (A)

(C) (A) is true and (R) is false

(D) (A) is false but (R) is true

SEP - 36221/I1—A

97. faum (A) : aRArN FHET-TREed ST

ST HHheUdl & FHEI-TAHM  TREIET

[HTRa STEdl 3.

HIUT (R) : 3191 9 Fs =4 (FAO)

I I G iRt 1983 HEH hal

R,

Hehdich :

(A) (A) 9 (R) <&l seX 3/ (R) ©
(A) 3 T TARHR TR

(B) (A) 9 (R) =l aeR 3Ted R (R)

T(A) 3 oTgF TR AR

(C) (A) T =R 378 W (R) ¥ I 3T

D) (A) I e T (R) ¥ s
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98. Match List-I with List-II and select | 98. ¥©I-I 3 AR-I1 A=A Sired T W

the correct answer from the codes

given below :
List I
(Crops)
(@) Barley
(b) Rice
(c) Millets
(d) Tea
List II
(Geographical Conditions)
(1) Hot and dry climate with poor
soil
(2) Cool climate with poorer soil

(3) Warm and moist climate with

high altitude

(4) Hot and moist climate with rich

soil
Codes :

(@ ®) @ (@
A 2 @ @O O
B @ @©O B @
< @ @ @ @
M 2 & @O @

Gehdihlqd =g v faer
RICU |
(forer)

(@) it

(b) €iges

(c) W & A

(d) ==
et 11

(vimiferen uftfeerd)

(1) @RI HefT=a JeeRisR So01 o Yok
T

(2) ToHI e HaoRier i gard™

(3) Afyer =T YSIIERIeR TRH o
SR gaTdH

(4) FU= FEORER I F ST oM
Hehdich :
(@ @) @ @)
A @ @ @O G
B 2 1 B @
©c @ @ @ @
M 2 & @O @
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100. Assertion (A)

99. Which pass was opened between

India and China for trade ?
(A) Nathula

(B) Khardungla

(C) Chumbi

(D) Solang

: According to
NDMA and BMTPC, nearly 59% of
India’s land area is vulnerable to

moderate or severe Earthquakes.

Reasoning (R) The most
vulnerable areas according to the
seismic map of India is Eastern Ghat
Region.
Codes :

(A) Both (A) and (R) are true and
(R) explains (A)

(B) Both (A) and (R) are true but
(R) does not explain (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

99.

100.

SEP - 36221/I1—A

HI0dt foe 9Rd 9 == SFAREE!

Qe HuA Seiel 3Ty 7
(A) AgeT

(B) @RI

(C) it

(D) Hrem

faem (A) : NDMA 37t BMTPC T9R

AR 59% YAl JHI YS9 81 HeEAH

q e S A=A YR UTAT TR TR
e,

ST (R) : TRATAT JHITEU ThRITHR
e W YT ® Al g e

-
-
.

(A) (A) T (R) Sl SeR 3ed (01
(R) T (A) T T TR 3T

N A ~N

(B) (A) 9 (R) Tt =R 2T g (R)

B (A) 9 TgH TR AR
(C) (A) T SRR 37 R (R) § TIF 3M&
(D) (A)® I 38 W (R) © SR 38
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ROUGH WORK
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